EARAZROREIERT — 2 N—XBISY —F 2019548130 () 3@EFIL7H

el Y 5% 3 KRB B ‘ [x1z] # ‘ [eErsm]  — | 4 (&) 1800M F4E
[x&<£] 1 % :5,000,000 @ ~ 23 :2,000,000 ™ . 3% :1,300,000 W ~ 43 :750,000 . 5 7 :500,000 M
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
= . FiElE :55. —2-2- . . REAFMA (EH)
N N S 3 o 1(5_5)5 2-2-2-1 | 40.4| 87.2 | 1 (4+562) (;;k) S 3R
LTANNTTFY— B:¥773-3— ke
> P s 43 | SEXH 1:56.0 6-6-4-2 |40.6| 83.3 | 2 512 | iR (EH)
21812 FTRNVAT 122 5.0 @ G | B 55Ty K557 5747
R:Vw IRy b BRARITT— EvJLy RT7—L
B . EEET : —6-5- MAKE— (E@)
317 9| XYy FHHL 3 SERG 1.(5263.3 6-6-5-5 |40.7 | 81.0 | 9 (4:348) e
R:d—ILK7U 21— B:RVGENS HmN77—L4
= 4 3 | REES 1:56.4 8-8-6-5 |40.7| 80.2 | 6 544 | FERE (EH)
4|5]5 UF 2= Sl =) 5%.0 (172) (+12) (k) hNEEXF— T
:n—ErTvy— B:hAEHNLTO-I FERS
- EENFIEN > Lo N: :56. -11-10- . . BKET (EH)
slil1|7151059> [B) >3 R (11 536/47) 11-11-10-9 | 39.6 | 77.2 | 7 zzg;) Bz
LA F v ML BiTUSERTIAR RERHS
6 NPECESZEED, [B] #H 3 Q_E%T?s% 1:(557).5 2-2-2-2 | 42.4| 73.1 | 3 (5_022) éig?—% (&)
RiwiNysLhTz BYvHILETITR (B) #HAEIA-FKL—Ya>@AE77
a—r i 3 | RLR%A 1:57.8 10-9-9-7 | 41.3| 69.5 | 11 | 438 | =M (i)
7 8 54.0 @ ) | B Sieiis
T4 >T7Fyoa BixREZ—0-7 =]
. =5 i EA : =il=i= =3 )
3 o | I=FArO— [B] # 3 | [ A 1.(568).8 1-1-1-2 | 43.8| 65.3 | 4 Agg) (Eﬁﬂ%¥i)
R:x>ind4n— B:YVIHhYEIL—> K77 — L4
o WWseE : -11-10- IE 18 i
9lgle| 71 XTI [B] o3 él%’(éﬁ (11.519/.20) 11-11-10-10| 41.9 | 61.1 | 8 ‘22;) %ﬁ;‘gg ()
R:VvA&YrA BAT—hFAR nweE KIS
= ¢ . ZHER :00. —-4-6- . . KEFBIL (ER
1ol8 11 SALYL IR 4 3 =4 (25(3?% 4-4-6-8 | 45.1| 53.1 5 a:g;; ki%ig
R:d7—3IUFL B:/—H4— THES
N . . > JIHERS :02. -4-8- . . K5 (EH
» Sl - rea-x £ 3 L 2(072>1 4-4-8-11 | 45.8 | 46.7 | 10 zzg? el
L:NZ—ka1—-2 B:/0F1-5 NI E%54%
S S 4 3 | BREMR 2:02.3 9-9-12-12 | 44.8 | 43.2 | 12 | 450 |/v&IUE ()
12 3 YaRY 56.0 (3/4) (-p) | BHHEB
Rib—t2hvLARY B TaH-—F> R
® 21 L
) 53.1-40.5
NA> AL | 12.7-11.7-12.9-12.8-12.3-12.6-12.9-13.6-14.0
@ 11— S —EBIEfL
13—+~ | 2(4,100-(7,11)(9,12)5,3,8(1,6)
20—F— 2(4,10)-(7,11) (9,12)-5(3,8) (1,6)
Gol=5r= (x2,4,10)-12,9(11,5)-7,8-(6,1)-3
40—+ — 10(2,4,12) (9,5)=8,11,1-6,7=3
[ /N
BB 10 170 714K 10-12 180H & 7-8 250 JEHE 9-10-12 3,710
8 B 10 110 9-10 1,480H B = 10-12 270M B 10-12-9 8,240
12 140/ 9-12 2,470 B H 10-12 370
9 920H

ABICOVWTRDTEEERROODE. TR LIV,



